
gNFffi (oHT-B) IqIHI Wrdr trqlul-q? q(ltlr zu 1U

GJ
frYq - {rqfl wr6 -qrri - oz.so Eit

orgmqr-6 (siaf O tsr<\{)

cftE{rrff 6l qrq SITf,I 6.I qlq

rwrefl ftffeffi """""""""""" """"""""""" rtrleT{ ffi

ffiqr:- r. lr.t qr;r Ed otfucl 2. fusT'rc gse w qefiq dt
s. q{=if qr ftqlR-d 3io. qgct d 3r-d q ftfuo t t -

sr{ ,l 1el) ffifuo csdt + fin fuo-fl Rc 'Tc d, cfi sfr froe 
-3ror 

c-'w

frfucr '(sxz=10eio)

1l1 st€Bdront-
(o) cis (u) an (l) eno tsfl

(n) fuqd qgdrq-( ffi d, B-t ftq sffq 6{i B -
, , (o) er+&rrra wrs (s) f*g

flrr) qiwr 41 qtT d-q-f, fr vrq t -
(6) ro.FIvrq (u) q-ou-dlfrsq

(ru 'q6q'Yrq fr eflg dk roo ] -
(o)qq + vnqq (u) qq + cq

(g 'dfus:' w< t s-trq t -
(6)EEl (to) {qg1

(rr) q-oFffi: mr

(q) sS {idq q}s-{-t fufus:- (sx z = 10do)

fir) a-gfrE

(q) qq + 31q o-flt

(q) ae gfl

go-g'q
gc6mi

orftrqr${ s6
fiffi: ftqP1
q-{ft[: \qfu
o.rfrl'<rs:

EIU-g'o'
qM

n ao'rfru-sw u-c-tq

ffitq-tq r{r$g
ffitqrqr qRsrq:

rfr Errco, u-gt:
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ii. ch{T,

(.Ft$ 4

t. iiirrrnT.

(e) wrs ftu-6 dtus (ot$ z)

fiiqral
I

iii. ae)-{r,

cT{: s qfiEIr TidEft qn-sft tt gq oTct ftTrfr o) srE,-d rt

(Class4) Sanskrit aMiddle

i. sterrq - ii. *u=, -"'. qrflfr-
swr 3 (or) rifu ffi( dfrc (oI$ z)

i. sk:
ii. ficcT,

ril. qqq

BRt{_

(2 3f6)

(2 si6)

(2 ttfrr)

+

I
i-1

I

(o riB ottus (oN A e effi)
I. q;I: + TITTI:

:.. ""' ii. sq + frrr: .........:...........

lll. gFI * Bdtt: -

(2 3To)

si6)'
I

(z ,

I

i



Jj................,..

F)

3i6)

16)

tr6)

slerql

. otwo t f< .rc yr<f d ftff qermf of {ffi aflftc-
tqrqn

+ffqn qErrflqrqfi:

YII.I cr.srrIr 6t{r, sto+#6rir

frq-q-(i) - . .onilqrql

q6rilIt

ffi-{a1 €ffriflrfr T{6 (ii) .............................. ... fiHsfu qd: vrlcrq
,4 3i.6)

3{r.rg{ (ii i) .............................................. I 11-01-2017 ftqio.q

t+-ot-zott (iv) cffiorvr * gqr f,i-g r

I
I

ftqf6 : 1o-01-2017 rffif,: RIq: .

Wtcr,
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q2lqr

frc,rc fr=fl ErEdt of riw-d qFfttif fi c<a-oq fufuc-

(D d.{crqotoR rtt
(r) q< d e'l-a gar+i t

(ru) 4E 
"hT 

fuqs t qr( q-fr qT,f t t

(rv) or1 tt qvrf,dT fr qh t t

nFI: 7- f{c lrg sqt l-*o. o} {Dt dftrc- (4 3ro)

fuflrpff

.T.grft

6',rff{: I

q-derldl

sTq-fi qrd-qgwfi t ot$ oz g.TIEd qr ftffio frfuc d 5s ur-a

cedcsTrcdr

q gkI

t
3(sr{-

ss-T: B- frt-€t d rffit of FtcngsTi ra olfqq- ( z x s = 6eio)J

11 erfifufuo rfro or erei frfuc-
(s0s) gqrFr qR.trq 3rgilFr ftiqt r (E) gsr qrsf srd ftl qeqrft-rqrro'

garFr a-w crqfu'sgq cvmll ln-s{ q G ErS aqta a *icrq: ll

4

3let4l

r{p;r: 6 - arq-fi ffirqrso t ot{ oa qfrruT ftfuc, q} gs crc qa ii c an\ di l(4 3io)

I
I
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3tfi(4r) litiy erifufuo {d6 d cfit o1fr+irTflr{ E,{ dfrc-
qnq1ffi ffi rsq: r, g ffit
E-s-i tr q orfiisB q++sr Et{q{ur{rr

r. 'dEr q-q 6r qfu ffiE dfuc I

2. (t) tqd sr< t qrg cqr t ?

s. EFr6' + sTfr - orotsfr ot{ fr isfu or vsrriq e t

)
;I

qs{: s- (3r) sqd t cr-gq.rq Elfuc (6ti-s) (3016)

i. q lrrg-d ftRa-e qt ii. qe ddqrf,r t r iii. q-s ..+r{ d wu .rnr t r

iv. w <}=rttrlg{ t rritr v. twq qrs' {B tl
\JCCIY 

-

I

(c) frd d sr-gor< qnfrq Ft$ 3)

i. rn rlEol srsfrt ii T{n RqTdsr{ qrqRt

iv.w fr*q sE qarfr1 V. rI: qJq;6 futfrr

(g do')

iii.rrf,d: qrq foI ?
6si6)-

I{{I{16: I

€crq: tt gsrfq

. Itfi: 10. ft{cngwx srdcsrr fufuq:- (oi{ s) (6ei6)

t. 3nsrE sq fu{fu dtfr e-a-qt g il. fuI @) qqfi tu{fu filt sq-rI t
i1., qrgEE wrqr ffi ffi q-q-fi tf lv. 3irflI(ffrqr fuqk ffi s_fi} q
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I i3d{

i3 ctrl{

s6q

gsflq

sd{ -

sFr: 11. ftftn-{sry qr$6q frfuq:- (ot{ s)

i. o.1 (d.-d-o.ri sf,rr gsc fi=it 444 d) ii. frq
iii. r{ Feftq q.euq ys's d=it sa-ri {) ir, or{

€ssl{

cfi: rz. ffifud tt t ftrfr v6'crq 6r qriyr sTci srd tl fuBq :- (
i. {HF1R: ii. Tatfi'fr: o-rftrffH: iii. u-gftfra

Ir$ri i3. (u) ffifuc yrit or B<N Eq-d d ftfuq,- (ot{ +)

i+oA'rm T6rrn: qrv{ olarr ir"t Xa orRo ? ii. qqr:

iii. {sr: 1{qFriRI: fti q6fu'? ' lv. vga: ofu1
v. enco) q1-qrq-6rirpr orh sffi orsl ? vi.
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frrdf qR qrqI d BFr Rd n ftfsq-(ot{ +)

mffi
g.fu? iv.6-qI

v. qq'sr 6qr rrr; ?

(4 crf,)

$FI {a;IT oIRf, ?

S((R -
g(rr{

ywr: 14. Frqftfof, rrsicli o) frtiqr$ffn ra dfqq- (8 316)

i. eltirfufuo rrufcr o-r frd oqar< fufuc-
, u-fficrs Bilfisi f{Rr T€dEs $ir1_slrusd RqdcRd I ssrp{:

+nirrilv {qvilqqB ErRqfr t sa orffi ttrrErRffi gqr-aTffi-o {ere,rfr
' Ffu, tg u-vot: - qrqFIR, (tma$ 1

Bd{ -

,:

Bd{

Bd{

€dr

vl. 6'rfuElg: o-w q.{rdg 1'o: onfraa

I
t

Ii

ii. epilfufud rrqrcr sT fr:{ erga6 ftfuc-
"oldg fllo. rq a-* {q yrgf,dr" ark<rq-s qrqr ore-e-.ryft+1 eik t

scrrT qnr€--.6rEs rft w q-ffisfu| Bftr q- "Bqrn E rfuil{rwr"

vdg fl-dg rf'd: q-+}wrFr ffir dns-d t ils e-f-d' er-grr.r' ensq t

-
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sJ (tit --.

iii. eEitfufuf,,r€rM A qs{t oi frftIr-EsR Ed qatuq-Grr{ d)
3rfur{ V6: 3ilkq: +TITET:3[id sqlr6l: q qfu 1 qd: erfrq
ftcrd{: e+dvrdergFlil: eIRd I 3rti gflrfi-o: FicrffieTrEo

1t Rro: erfut
qd d {affi q{ Tili{r t frrs vr6( trT trftr fu-qr .rqr t ?

2 W Y'd t fttd-ft qfi w fero tr 3. €hqu-€-d ffi u-a: qfu ?

a. 'qFo" ffiqrq-E fr otc-qr a-on t' ? .

1.

3Rr{ - ..

€d{ -

ca;I 5. frffi g+. 6qq w 10 s{d rf*ed sr+o} q ft-{q frfuc t (to ero)

i. frqmq: ii. T6{ Il1. gil"H
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Elementary Education (Class-8th) Completion Certificate' Examination 2018

Subject: Science

Time:2.30 hrs.

Roll No. (ln figure) .:............................... (ln words)

Name of Student rr...rr..r....r...,........ Name of School

Signature of lnvigilator Signature of Valuer

TotalMarks : 100

lnstructions : 1. Attempt all questions.
2. Attempt questions 13, 14 and 15 choosing one of thequestions.
3. Write the answers to the questions in the space provided.

Q. 1. (A) Choose the correct alternative : (10 Marks)

1. Whichisnotanaturalfibre: Ans; :.........
(a) Wool (b) Decron (c) Silk cotton (d) Jute

2. Which is the vaccine for Diphtheria : Ans
(a) BCG (b) DPr (c) oRS (d) oPV

3. ln a simple voltaic cell electrolysis happens to :

(a) Dilute sulphuric (b) Dilute hydrochloric acid

(c) Cooper sulphate (d) Potassium oxide Ans. :

4. Which is the main nutrient present in potato :

(a) Fats (b) Carbohydrate

(clMtamin A (d) Protein ' ; Ans' :

'l
(

5 Lade stone is a

(a) Naturalmagnet

(c) Bar magnet

Middle Classes (Class-8) Science

Ans. : ..............................

(b) Artificial magnet

(d) Horse-shoe magnet.

I

I



(B) Match the following : (10 Marks)

'A" "B' Correct answer

1. Farmer's friend - Cholera

2. CNG - CoPPer

3. Bacterial Natural gas

4. Silk - Plastic

5. Bad conductor of - Earthworm

electricity Malaria

- Cocoon

Answer the following questions (Very short answer type question)

Q.2. Name the different products obtained from petroleum. (4 Marks)

ln".

Q. 3. Write the name of two animals from which fibres are obtain

Q. 4. How can you protect your crops from pests ? (4 Matks)

Ans.

Middle Classes (Class-8) Science
,,
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Q. 5 What type of diet would you suggest for a mal nourished child ?(4 Marks)

Ans.

Q.6

Ans.

Q.7.

Ans.

rrks)

What are the causes for the spread of Malaria and Typhoid and write the

measures taken to control them. (4 Marks)

Describe any two methods of preservation of food items. (4 Marks)

I

he

s)

Answerthefollowingquestions(Shortanswertypequestions)
Q.8. Meeha'hai slightlfevbr and' has rashes fofmedon her body. She'is

disease and write the preventive Ineasures to be taken. (6 Marks)

'...'..-......

Ans.

Middle Classes ) Science 3
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Ans.

Q. 11. Write the charactertics of cotton and wootefibres

points.

Ans.

Middle Classes (Class-8) Science

Q.10. on what principle does an electric generator work ? Explain this principle

with a diagram (6 Marks)

on the following given

(6 Marks)

4

Odour on
burning

I l-{ I ll4.t}rrr ah^ a- rr - . '

Q. 9. Draw a labeled diagram of the cell used in a torch and write about its uses.

Ans. 
(6 Marks)

\A/oolenCottonPoints

On the
flame



SCS

lrks)

)iple

arks)

12o Writethegroundsonwhichthefollowingcropsareclassifledonthegiven
points. (6 Marks)

Answer the following questions (Short answer questio

O. 13. (A) \A/hat is biogas ? Draw a labeled diagram of a biogas plant' 1o naa*s;

I

!

:

Ans.

Khariff
autumn crop

given

Iarks)'

(B) How is biogas produced ? Describe'

Middle Classes (Class-8) Science 5

Ans.

S.N. Type of croP crop

1.

2. Rabi Spring corP

3. Jayad

Ans.



Or
(A) You are given one empty matchbox, four plastic spoons and a empty

refill. with the help of these explain the process of hydroelectricity with

diagram.

AnS.

(B) Write the names of two projects for hydroelectricity in chhattisgarh.

Ans.

Q. 14. (A) V1/trat are magnetic and non magnetic sub$ances ? write their '

examptes. (8 Marks)

Ans.

Middle Classes (Class-8) Science 6



I empty

ity with

iarh.

e their

rarks)

(C) Shown below are the situation when the pole ( N and S) of a magnet is
pole of another magnet. ln which of the situation will

the magn and why ?

' Fig. 1 Fig.Z

Fig.3 Fig.4

Ans

r
Or (A) Write any four characteristics of a magnet. (2 marks)
Ans.

' (B) Explain the process of converting a long bar of soft iron with the help of
a powerful magnet with diagram. (6 Marks)

Ans.

Middle Classes (Class-8).Science 7
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On the following points, describe the farming steps you would follow to
get legume crop in your school field.

(a) Choosing and preparation of land. (b) Choosing seeds and seed plantation.
(c) Adding fertilizers (d) lrrigation. (e) Harvesting and weed control.
Ans.

Middle Classes (Class-8) Science 8

lt.,

Answer the questions (Essay type question)
o. 15. (A) ln farming, what is the first stage of land preparation ? why do you do so ? (,l0 Marks)

Ans.



l
{

2. Which is the vaccine for Diphtheria : Ans
(a) BCG (b) DPT (c)oRS (d) oPV

3. ln a simple voltaic cell electrolysis happens to .

(a) Dilute sulphuric (b) Ditute hydrochloric acid

(c) Cooper sulphate (d) Potassium oxide Ans. : ..

4. \Mrich is the rhain nutrient present in potato :

(a) Fats (b) Carbohydrate
(c) Mtamin A (d) Protein Ans. : .........

5. Lade stone is a

(a) Naturalmagnet

(c) Bar magnet

Middle Classes'(Class-8) Science

Ans. : ......

(b) Artificial magnet

(d) Horse-shoe magnet.

I

Elementary Education (Class-8s) Comptetion Certificate
Examination 20i8
Subject: Science

Time: 2.30 hrs. TotalMarks : 100

Roll No. (ln figure) .........r.....i.. (tn words)

Nameof Student ......... Nameof School

lnstructions : 1. Attempt all questions.
2. Aftempt questions 13, i4 and 15 choosing one of thequestions.
3. Write the answerc to the questions in the space provided.

Q. 1. (A) Choose the correct alternative : (10 Marks)

1. Which is not a naturalfibre: Ans. : ..............................
(a) Wool (b) Decron (c) Sitk cotton (d) Jute

f



\Lrl rvrarun rne lollowng :. (10 I'/arks)
"A' ,8,

Correct answer
1. Farmer's friend Cholera
2, CNG .

Copper
: Natural gas

sitk plastic4

5. Bad conductor of - Earthworm
electricity Malaria

:- Cocoon
Answer

Q.2. Name the different products
Ans.

(4 Marks)

:: '

Q. 3. Write the na
fibres also.

Ans.

Q.4.

Ans

me of two animals fro, *f,i.n fiOr". ,r" oUtrln"O Nr;; ;;
(4 Marks)

How can you protect your crops from pests ? @Marks)

Middle Classes ( Science z

(Very short answer type question)
obtained from petroleum.



Q.5. What

Ans.

type of diet would yori suggest for a mal nourished child ?(4 Marks)

Q. 6. What are the causes for the spread of Malaria and Typhoid a
measures taken to control them.

nd write the
(4 Marks)

Ans.

Q.7.

Ans.

Describe any two methods of preservation of food items. (4 Marks)

? ! frat are the

Answer the following questions (Short answer type questions)
Q. 8. Meena has'slight fever and

suffering from which disease
n her body. She is

disease and write the preventive measures to be

other symptoms of, this
taken. (6 Marks)

Ans.

Middie Classes (Class-B) Science 3



Q. 9. Draw a labeled diagrim of the ceil used in a torch and write about its uses.
(6 Marks)Ans.

Q.10.

Middle Classes (Ctass-8) Science

on what principle does an electric generator work ? Exprain this pr:incipre
with a diagram (6 Marks)

Ans

Q. 11. Write the charactertics of cotton and woolefi bres on

4

t
:

Points Cotton

On the
flarne

Form of ash

Odour on
burning

points. (6 Marks)
Ans.

Woolen



ISES

arks)
Write the grounds on which the following crops are classifled on the given

(6 Marks)

S.N. Type of crop crop Base of classification

1 Khariff
autumn cfop

2 Rabi Spring corp

3 Jayad

Answer the following questions (Short answer questions)

O. 13. (A) \Mat is biogas ? Draw a labeled diagram of a biogas plant. (8 Marks)

Ans.

iple

rrks)

tven

(B) How is biogas produced ? Describe.
Ans

Middle Classes (Class-8) Science 5
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Or
(A) You are given one empty matchbox, four plastic spoons and a empty

refill. with the help of these explain the process of hydroelectricity with

diagram.

Ans.

(B)

Ans.

Write the names of two projects for hydroelectricity in Chhattisgarh'

O. 14. (A) \Mat are magnetic and non magnetic subdances ? Write

examples.

Middle Classes (Class-8) Science 6

Ans.



rrks)

(C) Shown below are the situation when the pole ( N and S) of a magnet is
brought near the pole of another magnet. ln which of the situation will
there be attraction between the magnets and why ?

' ' Fig. 1 Fig. 2

Fig.4

Ans.

S N

N s

Or (A) Write any four characteristics of a magnet (2 marks)
An S

the

(B) Explain the process of converting a long bar of soft iron with the help of

a powerful magnet with diagram. (6 Marks)

Ans.

Middle Classes (Class-8) Science

rs)

7

J,

Fig. 3

s N s 5

s 5 SN



Answer the questions (Essay type question)
O. 15. (A) ln farming, what is the first stage of land preparation ? Why do you do so ? (10 Marks)

Ans.

......'.,..:

(B) whai aiii'ihe iiewieChniques oi'iiirsd,tioii ioiwateiiing of iiops ?
Or

On the following points, describe the farming step you would follow to
get legume crop in your school field.

(a) Choosing and preparation of land. (b) Choosing seeds and seed plantation.

(c) Adding fertilizers (d) lrrigation. (e) Harvesting and weed control.

Ans.

Middle Classes (Class-8) Science 8
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Elementary Education (Class-8"!) Completion Gertificate
Examination 2018

Subject : Social Science

Time : 2.30 hrs.

Roll No. (ln figure) (ln words)

Name of Student Name of School

Signature of lnvigilator Signature of Valuer

Total Marks : 100

'lnstruction ;-
1. Attemp all Questions.

' 2. First read Question Properly than answer.

3. Question no.1 is an objective type and divided into two part-part A Part B

4. There are objective Question in part (A), and in part (B) there is fill in the

blank. And 2 marks in allotted for cach Question.

A. 1. (A) choose the correct answer:

. The temperature of daytime in desert is :

(a) Mgre (b) Less (c) Even (d) odd

(b) Panch

(d) M.L.A.

(Marks-10)

t
Ans

.2. Flag hoisting at Lal Kila on indepen(ence day made by .

(a) President (b) Prime Minister

(c)Chiei Minister (d) Governer Ans

VISA is given for :

(a) State tour (b) District tour

(c)Tourist spot (d) Foreign tour Ans. ...

4. . whom do we apply for getting information related to school under right to

information :

(a) Sarpanch

(c) Headmaster

Middle Classes (Class-8) Social Science I

3.

Ans.



Ans.

is situated ?

(a) North (b) west

(c) East (d) south Ans. ...

(Part B) Fill in the Blank ;

1. First prime minister of independence lndia was

2 The Birth placeof Guru Ghasidaswas............

3. lndira Gandhi canal is originated from............river in Rajasthan.

4. The broad grassland in North America is

5. The application fee ------------has to pay by B.P.L.

right to education.

Question no.2to 7 very short Question

Q. 2. Write the names of four major harbours in

Q.3 Write the name of any two animals found in Desert area? Give two
reasons for taming these animals.

Ans.

Middle Classes (Class-8) Social Science ,
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Q. 4. Write the name of any four continent in theworld?

Ans.

Q.5
Ans.

Q.7

Ans.

Name the four important historic sitds in Chhattisgarh.

Q.6 Complete the following information related to Chhattisgarh.

Ans. (a) Dishes (i)

(ii)

(b)Ornaments (i)

(ii) .;. ... ...
lf Lesser wages are being given by sarpanch for pond construction. How
can you get the information about that through right to information ?

3

Question no. I to 12 (6 marks is allotted on each euestion ) (30 Marks)

o 8 How is fishing done in sea?

Middle Classes (Class-8) Sociat Science



Ans.

Q.9

Ans.

What are the measures for water

Q.10 wrat measures should be taken by student to maintain discipline in school?

Ans

Q.1 1 Write an application to the
under Right to information

headmaster to knoow about menue of meals

Ans

Classes (Class-8) Social Science 4



Q. 12. Write the process of Right to lnformation in following points.

i. Application ii. Fee iii. Xerox of Original documents

iv. Receipt v. Time Limitation vi. Panelty

Ans.

Question no. 13 to 14 (16 Marks)

Q.13 t/Vhat was the reason for partition of lndia and Pakistan ? Vvhat economic

Problem arise in lndia for this partition.

Or

Write short note on any two pictures given below.

Ans.
ls

Middle Classes (Class-8) Social Scienc9 5
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Q.14 What do you mean by panchshil? Describe the three Principals of

Panchshil. 
Or

What is foreign policy? Write a short note on lndia foreign policy.

Ans

Long Answer type Question (10 Marks)

Q.15 What is chemical industry. Explain with example of north America.

Middle Classes (Class-8) Social Science 6
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(s-10)

under

ks24)

f lndia

Or

Point out the following places on the map of north America.

(a) Bay of Hudson (b)Atlantic ocean (c) Los Angeles

(d) Allepsian Mountain (e) Mississippi River

Middle Classes (Class-8) Social Science 7
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North
America
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,

t\
"iffracv l

N

.',u\r
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0 ,{t !90 1.780 ?.610
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Eleme ntary Ed ucati on (ct ass-811 C_om pletion certif icate
Examination 2018

Subject: Mathematics

Time: 2.30 hrs. Total Marks : 100

Signature bf,lnvigilator Signature of Valuer

. Obtained marks (ln figure)

lnstructions :

Q. 1 . (A) Choose the correct alternative : (10 Marks)

(a) Number of diagonals in a quadrilateral are :

(l) I (ll) 2 (lll) 3 (lv) 4

Ans

1. All questions are comPulsory. -:
2. Maris are indicated against each duestion'
i. Question number 11 to 15 have internal choice :

(b) r *=; then value oi will be :

(l) 1 (il) 2 (ilr) 4 (rv) 8

Ans

(c) Which one of the followilg is the correct relation :

(r) cP=*ffi#*
(rv)cP=Hffiffi#,:Selling Price x 100

(lll) CP = 100+ Profit%

Ans. : ....

(d)Next number of the series will be 7, 12, t8'25

(r) 2e (ll) 31 (lll) 33 (lv) 35

Ans. : ......

Middle Class(Class-g) Mathematics I

Rolt No. (ln figure) (ln words)

Name of Student """.'' Name of School

(il)cP=jffiffia



Ans

(t) 2 (il) 3

(B) Fitt in the blanks :

a. There is no change in'the solution of an equation, if

b. The diagonals of a rhombus . ,. . . .

c.

d.

e. , Number of edges in tehahedron is ....

(e) For every polyhedron

Represent f, on the number tine.

Q.2.

Ans

Q.3

Ans.

The print value of a table is ns. tdSO. lt is sold
then find discount.

to a customer at Rs. 1067

(4 Marks)

Uioote CtasslCtassq UatnEmIIE

(Vertex-edge +face) is equal to :

(ilr) 4 (rv) 5

(10 Marks)

angles.

(4 Marks)



o. 4. The side of a rhombus is 7 cm and its heights is 3:2 cm. Find its area.

(4 Marks)

Ans. .........'..

'Q. 5. circulnference of the base of a cylinder is 6m and its height is 44m. Find

. the area of the curved surface of the cylinder' 6 Marks)

Ans.

Q. 6. Draw labelled diagram of a Prism' (4 Marks)

Ans.

3

tt,

l

Middle Class(ClassS) Mathematics



O. 7. A cylindrical wall is made to protect a plant. if the circumference of

cftinOricat wall is 100 cm and its height is 75 cm then find the area

wall. (4 Marks)

Solve the eouation 2x+5 - 3

3x+1 '11

Ans

Q.8.

Ans.

(6 Ma

Q. 9. A shopkeeper deposited Rs. 4500 as VAT after 6 rnonth of sale. lf VAT

rate is 4%, find the original amount for which the sale is made ? (6 Marks)

Ans.

Middle Class(Class4) Mathematics 4



f the

r of the

)

e. 10. Find the base of a parallelogram whose area is 240 cm2 and height is

I cm.
(6 Marks)

Marks)

Q. 11. The radius of a circular pond is 200 m. A circular path of 7 m is built

along the bank. Find the area of the path' (6 Marks)

Or

A iectangular farm is 90 m in length and 65 m in width. on all the four

sides there is path 5 m wide. Find the area of the path'

fVAT
) Marks)

Q. 12. A 90cm long solid rod with a diameter 1'4cm is to be made of iron. How

much iron will be reguired for making the rod ? (6 Marks)

Or

A cylindrical pipe has radius of 7 cm and height 20 cm. Find the cost of

painting the curved surface of pipe at the rate paise' 2 per ai
Middle Class(class-8) Mathematics

lt,

Ans

Ans



Ans

Q 13 0;;;;";";;;,;.;;;,;.,;.,";,;;;;;";o;;;,;"*.;;,
Ii, years in a financial company. lf the interest is calculated every 6

months, how much money will she get on maturity ? arks)

Or

lf Ritu Bishwash borrowed Rs. 80,000 as a loan to built a house from a
housing society at the rate ol 15o/o per annum compound interest, then
how much amount will she return after B years.

(8M

Mkldle Chss(Class-B) Mathemati.:s 6

i,\

Ans.



to:

l

larks) I
,'

dd or

tion.
'ght

1067

arks)

Q. 14. The age of Anurag and Akansha are in the ratio 7 : 5. After 6 years the

ratio of heir ages will be 5 : 4. Find their present ages. (g Maks)

Or
The sum of the digits of a two digit number is 12. On reversing the digits

the nevtt number obtained is 18 more than the original number. Find the

original number.

Ans

rrks)

tr,truo E cEG@tass-01 luatrEffi EG 7



Q. 15.

= 5 cm, LA = 600 and LB = 110o.

Or

which AB= 4.5 cm, BC = 3.5.cm,

(10 Marks)

Construct a

PR = 10 cm.

Middle Class(Class{) Mathemalics 8

rl .

a

l



A-3/32 ANNUAL EXAMINATION - 2016 Page-8

Time - 3 Hrs.

Roll No. :

Class - 8tr Subject - English Marks: 100

(In words)-

Invigilator Sign.

(2) How do the fast moving bogies look like ?

Ans. -

Ans

(4) List all the things the boy said he needs ?

Ans. -

(6) What did the queen say when she was angry ?

Ans

I-

t'

Student Name :- School Name : _
Valuer Sign. :

General Instructions :- Attempt all questions.

Q. L Answerthe following question : (any l0) 20
(l) Where did the shoemaker live ?

A rrc -

(3) Make a list of the things that help a tree to live ?

(5) How many members were there in the jury ?

Ans. -



8't'/ Englis\,..(2)

(7) Why did Gandhiji weep piteously ?

(8) What is Devdas Banjare famous for ?

Ans

(9) Why did Shiva put nectar on Madurai ?

Ans

(10)What is the ISI markused for ?

Ans

(11)Who falls PraY to it ?

Ans. -

(12) Whattasks is the mountain unable to Peirform ?

Ans

Q. 2. tAl Tick the correct answer :- 
irl Thequarrelbetweenthemountainandth

(a) length @) size

(c) abilitY (d) strength

l0
e squirrel was about -

Ans. -



tf
(3)

(a) Tenali Rama (b) carpenter

(c) RajaVerma (d) eldersofthetown

(3) The boy made a crown'-

(a) ofthe tree's bark (b) ofthe tree's leaves

(c) of the tree's flowers (d) ofthe tree's stump

(4) Nectar means -

(a) beauf (b) brightlightfromheaven

(c) poison (d) drink of the God

(5) The beautiful shoes were made by -

(a) elves (b) magician

(c) joker (d) fairies

(6) Ancient-

(a) attractive (b) huge

(c) new (d) old

(7) The 28th Olympic games were held in

8h / English

(a) Sydney

(c) Athens

(8) J.A. is used for -

(a) JerushaandAbbott (b) JerushaAbbott

- (c) JeanAbbott (d) Jean LJerusha

(9) The boy sat down in the warm sunshine on -

(a) grassyground (b) thetreestump

(c) abench (d) thebranchofthetree

( lO)Beggars usually wear -

(a) wodlen clothes (b) leaves

(c) rags (d) raincoat

(b) Seoul

(d) London

ll



f,
'l

(4) 8h / English

(B) fi[ in the blanks choosing the appropriate word from the

bracket.

I wink, battle, fairies, glimpse, through ]

(t) are imaginary things or Person.

(2) Once i was passing a dense forest.

(3) After a long we got freedom.

(4) The thiefwent out of sight in the 

-.-(5) We sawa ofthe moon acloudY night.

(C) Write true or false.

(l) The girl is thin and the bird is piump. [ ]

(2) The mountain is able to crack a nut. [ ]

(3) The blind man helped poet to.cross the road. [ ]

(4) A little girl was in the photograph. [ ]

(5) Sudha hasn't worked in any film. [ ]

Q. 3. (A) Give one word for.

(l) One who sings for film.

(2) One who cooks in a hotel.

(3) One who collects waste.

(B) Arrange the letters and make meaningful words clues are

'provided: 3

5

5

(1) nsilge

(2) nwroc

(ong, only)

( The king wears it )

(3) lgitedh (veryhaPPY)

3



il

5

right.

clues are
3

5

1

J

tl

(C) Change the number :

(3) Man

(D) Change'the Gender:

(l; Peacock

(2) He - goat

(3) Poet

(E) Filt in the articles. ( a, an, the)

(1) Honesty IS

(s) 86 / English

J

3

(l)

I

best policy.

M.L.A.(2) Mybrotheris

(3) Ihave

(F) Translate into English :

(l) f,rrugv{rrcr{ r

(2) {o,muroff{q6s161

(3) s-6+rr.Tr{t t

(G) Give opposite word of :

Hard

Beautiful

Polite

3

(l)
(2)

(3)

j
*

st.

J

)



\r
).i

8'h / English

J(H) Do as directed :

(l ) She has read the Ramayan .(Change into passive voice)

A) Make new word by adding suffixes from - (ian, er, ist)

(i) sell

(ii) physics

(iii) music

(3) He read the text book.

He made notes fromthem.

(Combine the sentences using 'and')
OR

(4) I found mY bag.

I lost the bag- (Combine these sentences with whi

Q. 4. (I) Write four lines of poem'sympathy'or'Fog''

(I) Define Noun and their kinds with proper examples'

OR

Make a word list related to the given word'

HOSPITAL, STAGE

t

I

(6)

4

4

I



h / Englii\" t: 0) 8h / English

I

8

I

' [A]
(1) Dhanraj Pillai
(2) Anju George

(3) BhaichungBhutia

(4) MahendraSinghDhoni
(5) Sania Mirza
(6) VishwanathAnand

(7) PrakashPadukone

(8) P.T. Usha

tBI
- Football

- Cricket

- Tennis

- Hockey

- Chess

- Athletics

- LongJump

- Badminton

Q. 5. (A) Write an application to your Headmaster for three days sick
leave. 5

Or
Write a letter to your father informing him about your studies.

l0
'as about -

[Answer]

I
i



(l) Charging

(3) Driving

(8)

rd with the given words

(2) Fairier

(5) Daisies

(C) Write an ,rr", oo -[o" or,h"
(a) Any Greatleader (b) Wonders

8h / Engtxiil..

5

(4) Gathering

I

I
I

l



il!fro. {fliu.-{qfrailr{2016
oer-srrcff f4sq-ffi

srfpqio ( oidi { ) . ... .. ... .. .. ... . .. (Yr-<I { )
cftgl?ffurcrq rtralolqFl

rrnrrqfr{iao

t+z
gfo :1oo

rsrmffi
c{q 1. ffiffirlaivluldil{qdr{ilffiqrqrffi :-(ot{-t) 4

(sr) sFnyr€f{{ffq ord qff t, B} fu rre Er ff Evt t t

(s) faqfu c-.si w o-rt t, er6a qr$ qrft X, frftlq v< urqft d sitl

ot{ rtr{ =rfi €dl, r< 5tr fi wv} o.rq qrft t t

\ltn-

cv{ 2. ffifucr qqtu dt rff cd rt{qvfu erq dlffi F (6t{-1 )

(o) s6) ft Sq+qq, -q q-gldl s+tr I

fo rrs qqrro qql, qfi r? qgcm I I

(q) qrq-uist*de\, ElcqrR*+q I

lgt dcl Eig *,, r{Er rsl dq fr t t

4

9fl1-

f,'
A-3131

qrq : g qst



(2)
srFr 3. ffi ctqld*Hl onourq'tt stilvtlftrt :-

(q) vrcraqrftqfuffiorit ?

qd/ffi
24

TFilit -

(s) qiftdiqftl-ar{d#saCIqrq-fl o-r0 ?

Gn-

(s) rti#fi i irFfl dwrcftcnr{ ?

grllr -

(s) ufuoramqrrrEiqroist-dgor ur ?
Gn-

(E) dswtoftowrerftcmt ?

sT{ -

(q) qnnrqt, Eqno.$*RBfl ?

(q) w-<nqlaol*rgww'f o-ourirt ?

Grr -

(o) ogflstmif etqRwct ?

gEit -

(s) qarcqfr'-o-r*{ Eirdfiftdq*frq ?

GN-

I

('n) qq-al grrfl +flrffi qrq.ft t ?

gilil -

i



t'

(3)

crn 4. (q) {tiftr0rr<-v1rtftstoTqftfoi :-

(r) fu{r6rat{or<qd-

(z) gato-riu}'o-

(s) ftrq-6\+f,Icvrsb-

(+) dqqqrrdrE)-

(s) fuc-ovqrvlqil-

(s) R6*n"d6dtut:-
(r) si0urflols{irq olc}.sflafl t

(z) qiftffdq$orcrc eIIl

(e) vffrGrbrndrqlrril id$ r

(a) rIlFrErsiFIFq --{gww t

(s) drr{qnrtftdl

(s) ffiffiutr?
(r) rri e) 3f,{fl, srrA*rr w titt t

ffioa-ffi68r
(2) ErBvrrqqEqra-dqSlt t

ffio-a-ffiEEr
(s ) gwmn*ov ftr{til qqriqA, furr{d d ffi d I

ffisgr E-6I

(e) Htt lttttl,rtvqHA'rqr ?

ffioaTftqfiqa+
(s) qrcftiilco{ry,{rtvnvsb wuvftft r

fu*i-Er-Qnr$o6r-

qafi/ffi
5

t*+Hq I

5

)

5



I

(e) qrde/ffi

rrftvct
(s) sfoddistiHl:-

( er)

5

3rrfdeq

fu=fiqrrlfr6qIBt

fttrqtat

cisqr

wrerrqa6Tqr.r{qlI-t -

(c)

+fiqft*
T6i6

erdE

o,6rft

o.frdl

cr=r s . (Gr) Frqfrrkcrraiuqltrcot{tiftiqcri'ltvfrrftM :-+
c,"q:tqt rqltft ura aEqrovwdtqei{ qeiF{tit,

\r.F qrt vrrq aq t Fr+-a rrqr a\, fur sITs rff SIFI, EC \.fi stq ff
qe'rfi Eli +il qrBt I rqrft fusl-fffrlqd qre qqFilfl Eqrt

qRnq vl sqq + e-sruh w ffi ETft t I

c{r r. TqivtsIsfrf,vt+6Sfrrt ?

gtrt -
sri :. Eqr€l rnft qq-cr* fo-s srd w f+k orfr t ?

4

't

IIE{ -
qlq 3. rgsr{r ifl T-Eq{trrt dt srrqvq-6 t ?

gn-{ -
(q) ffifunlt,rto.orqrsdGfiri :-

gb sl-{gc d 1a a, ffra6 qra srq t

gqt Xq-srfil 5fl , a}rr o,t {tq qrq | |

lnl=t 6. (s) vqrilffrrqftH:-
slfgrl

{s{rtl

frrqt=

GJI{FF =

!

{

I

I



"rfr/ta

rrffscc

qftffi:-+
iE61+at,
r{t'oqqff
smrar tqrt

,4

2

t
(s)

(s)
fuwrfrvrqftH:-

stdfr/ffi
'2

3r6H -
IIGITI -

rdi -
*d-

3fliF'TSI

2

(s)'B' scr{Ernols}Wu€TflfE I
(1)-(2)----"--

(E)'m' sesdlqrrcslqgrrqrqrTt.

srg

Wff

2

cFr ?. (q)

(r)--
rt&ftrrdlftrt:-

(2)

ftrsrf,q -
tml" -

(s) vqrfl ftqEorlonra6t :-
qYIFrr -
1M-9"-

(q) mwtvrdfutrtrrcrq ffi:-
ff{fl-

(s) lrclgadl&i

2

!rF{ -
2

(1)+Rffqdqrot r

(z)fi*f wvfftort r



(e)

(e) srtrondqturrqtftm?
"rfrtAA

2

g:Fi 8. qqi uer< cr66 ol o,rqq rflri gq €r{ e* A g-{e tg slr+fi Yr

ftMt

crct ftdI 6\ rr, frRrt. ftilqq 3nqff qlffi6 cff m ff ffi or qofu ;1 1

5

,l

qI

I

I

I



s
a

oilaa/ffi
24 erFr e. hdqftffi:-(E't{r) 

(z)

rgrfir arieft , *ff crdvndr, ErFf6 +611

stdfi/ffi
10

cFI 1 o . eici crgq gF6 t rfi-sqerqn oftsl d{MftM r

i

5
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lttdfr/tiw(2)

riqa{ftfu9:-
(i) tlsqo-sdoftrra:qk ?

(ii) urkcnrwu-qfi :grluk ?

(iii) q':wiari a

(iv) *rqq:ftFta: ?

I
I(vi) ortg<rlrrdrrtE ?

(vii) w*gur+o-s-o gre Rerq srRd ?

(viii) vqp:ga snSE ?

(ix) smqrittdo.fr xrq: rrqfu ?

(x) Rrtgqo$qarqqrff 3n$q ?

(xi) srfiIaltvrs fd-ffi vIEcft : E : errfiq ?

(xii) qrsro-st:qS: ?

qTl 3. 20

(v) vrga:o.furrwFrrsft ?

I



(3)

srFr 4. efuoriiedlftg:-

(e)

(o) qdft.t-dq u.ro5-{qr$

orftf{rqr$(q) fr$t'd1

(q) vj-6.ta1 ffi
(s) srrftq ffi

qlde/tiq,a

5

SGTT

(e) gT$.tq - ftq-<ffi
crn s. srrft crdq gwfi +oH a ?-#o, frfuq, d cr{ qa { c arql d t

' qsrql

o.H s Wsq:ftfuq t

5

cv.t 6 (cr) {Fnfrrdqrsq'f tqrqiv€trildftfug:- s

oro : q=*r v{t T{qft I ( ---__ )

or5qrFlffiq: I (-----)
qqqom'getrn: t(-----)
f{qrEf{r orftfrfl o-+q I I (----_)

vr<gwqr+hrtq ? (-----)

(i)

(ii )

( iii)

(iv)

(v)



(t) ildfr/tiv-a
(q) F{tntvrq'f r}ftmlcrrd1fldffFug:- s

1 \-6: / cluerffi: I nrt=J / -ra / a<: )

M enft-e:emftq t

.r.ri qrb-a-o:uk t

*rqu-s-e *- sq:rfl: vrFa t

16r qfur

(+) enqrn

5

(r)

(z)

(a)

(r)

(z)

(e)

.i{6 (ts)

<-w(to)

(e) vrqlef fttfuq :- (ot{ s)

(5) trtrw(zs)

(o) fi-s(zo)

5

qRa:

Fdqr:

dsd

(s) o-<r =

(o) qrqr

ffi arwl or rirgil { orgar< dfuq :-
qrrrtqm?vlt t

g!!=I ?. (q)
(r)

15

(2) {uiffisl_cctfl trcar{ r

I

(s) Tf rqaqr$qdd.rftt t

lt



I

A/riqd
5

(s) otdfr/riga
(a) qilq-o,nT{irito,l trct t

(s) onerda-flsrioqt t

(q) Frqitu!dt6+RtHTdff 1fd6tus :- 5

(r) Tigqwirhi

il{6----

(2)

rr{klrel;l: ll

5 crnnan.iqqrn$

irdtg<rogw€ ------ ttI

5

(a) giaernuurrofu

--__Tffiqqd5ftq-aqa tt

nrr=r 8. sdf tgEil{fq{vrrjrilrftfug:-
(q) srq(otqqfl#ifqs=if { t

't5
(q) qE srrgffi=foR er;u gw#if aa=if { t

1(ro) a-.ca-on vcil'i gss

(q) dtuffi{dttuc:- (o}$d)

(t) trtq-6lq:

I

I

qI

):.



F (6) srafi/ivd
(z) qsr*Fr{

(a) a+s

(s) nqmftrtdfuq :- (oHd)

(t) qqrm$-

(2) rrerrqr -
(s) cqr-Fq-

c?=I 9 . g-c-A t fdc rtqn { sqrq sHIq6 o) q-e ftfuq t

I

4



fi/riq . (z)
cyq 1 o . frqfrrfud{* furfr voftqq wf*ieftfus,-

(r) t}g, (2) Bqnl (s) furns:

ottdfr/tiy
I

.t



.r'

A-3t36

IrQT : g qst
iltrm qpqiuil rrfrail r{2016 hz

oal-0n6ff ffyq-ftsri Wfo, roo
or{oqio ( sidf { ) . .. .. .... ... . . . .... . .(stusl { )
cftmreffolrq ":"'.'.... vltrlir.rtFr
rcrrtffiro weimt#+ml

ft{vr- (1) ftrqr+esaqw€EtftqTEq I

(2) crq-q"{ sntftarrfi 6ftT{foao.rnqtro{ r

mFr 1. vtlftaagmcftlfuq :-
(i) ltd+s{*fr6-corwt_

(q)r3-n (q)$ (rs)frse (q)Td
gFr{-

(ii) sqeurEt-
(o)atrt (q)d<r (q)*{ (s)ll-qfrtuqq

5

\lRR-
(iii) otq 6r qra-diimtfdrt -

(o) r.s (a) r.s (v) z.+ (s) r.o
t'Gn-

(iv) ftq{t wr+oroftq r+d t -
(q)rsrsqf (c)+E)frrqq
(s)qr*quqt (q)*rvqf
BER-

(q)m co

(s)6tn Co
BGR_

2

cln 2. Rmlrildt$ffiq:-
(i) arsrimrsfrflr{funrftstort 

r(ii) dravgiorc-"'-- sqfg{q1qrfrf,t r

5

(v) vJs!'6t-
(o)drs co

2

(s)trs co.2

I



nor, iEh#Y)
. IY)

qFiI

rnFI 3. sP{driisdlBt:i-,. t;1il

(s) Bff{-

, ,.: .''
'5

(+) drcrg'-o-t

(rEt

crftuoed##
E wksaFl
qr$+fi#)

vrFr 4. sfld
(i)

rll,(ii;:,

(0 qt€ft( ndii dfX) ft;'ffiffifri1ftq :l'is
r(Eqrt r+n d qgq ryt. r t ;'f.L:)1 "
riq arrcr fri *inq o-rar* f ,IL"..'.ll)'''
Teear +.r fdsrg e" y_**,loJ u; ill,.,') ,

q{rfudor -r.{-6t 
t (.;r;1.) i,. i , i:.

{+" 
"+ 

gdi, fiftildi }-tr6i *+tsrt l-(,:r.r.
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